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Please make sure that the printed pages in this question po.per of Part-II ar-'? 8 :i�
number and it contains 35 question.5.

• q{kn4/ iWl'fT Uff efo JIR-r:ffl rrr.� /a?i,

Candidates must write their Roll Number on the question paper,

• F m w Jf/J" # -e gt ,g !JPifi® clir ff fit; �r:r:r Y:'f r1 � � rrfmr � �r;;_;.;;;t �
HlclrfJ q wf rft � tefh;Jc rfll /i6l/f iiffffl

Before answering the question, ensure that you have been supplied 1h1: <:.-o� and

complete question paper, no claim in thu regard, will be ent:ertain.ed aft:,a-
�mination.

dJljjrq Mir: 

General lnstnictions : / 

(i) wr/1 RR .,,f.N,t/ 11 

All question.s are compulsory. 
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fiiJ w.-r j/;7ff</i 1 e as ffCli q@Plt.rJ JWr �, JrriN m-;r 1 Jiiii .;;r �, f:1?�13@< r-r Ji�'7; <F."

Jfr(�/ 

Questions from 1 lo 35 are objectiue type questions. Each question is of l 
mark. Answer of these questions may be given as per insrn.,ctions. 

Mr: Pl�rt ei§l'¥wef}q Jr.RI rii mft f<l<iiW Jf./1! : 

1. 

2. 

3. 

Select the con-ect option of the following multiple choice questions : 

f cc� iR1 if � e�1�9.{1 � % 

(I\) 8 (BJ 4 

(CJ 6 (DJ 12 

Numbc:r of tc:trahcdral voids in the fee unit cell is 

(Al 8 (BJ 4 

(CJ 6 (D) 12

'14Qdt!i{I filHq-if if WIR mffi % 

(A) mm ('3) q{lij(Uj � 

(C) �tAlq (D) lt<4Hdi

Isotonic solutions are the solutions having same 

(A) Conccn tration (BJ Osmotic pressure 

(CJ Surface tension (D) Viscosity

Afg I Afg2 ➔ 

11 Cu 2+ I Cu � 31f,:ifsl;c.11 cfi �

(A) tifscfi�if Mg (l3) � cfi � if Cu 

(CJ Cu � .Jllcffii<b<01 � i (D) ,JQ <l cffi if -a � .:rgf

For the given cell reaction Mg I Mg2• II Cu2+ I Cu : 

(A) Afg as cathode

(CJ Cu is oxidizing agent 

(Bl Cu as cathode 

(D) None of the above
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4. PIL.i�f<ga � �Hieb 'ff ,)i�faiin � sf@ � :

K = 2.6x 10·4 
L mo1-1.s I

(A) �

(C) �
\ 

Identify the order of reaction from given rate constant :

K = 2.6x 10-4 
L mo1·1

s-
1

(A) First

(C) Second

{B) Zero 

(D) None of these

5. ��l�sl cnT qiR-ffl r� � tIT � ;rt! <ii«IT ?

(A) q,l�4ifl�

(B) �-Jttt4tftt e

(C) ��

(D) � 'ff � .,gf

..... 
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Which properly of colloids is not dependent on charge on colloidal particles ?

6. 

(A) Coagulation

(B) Electro-osmosis

(Cl Tyndall effect 

(D) None of these

�-�-« �-m � wre � t? 

(A) HClO (B) HCl03

(C) HCI02 (0) HCl04

Which of the following is strongest acid ? 

(A) HClO

(C) 'HCl02 ·

(B) HCl03

(Il) HCI04
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7. � if � �-m fficf '31q(ciqeu iftf � t ?

(A) -il��;;i-1 (B) �

(C) cf.e11.f1 (D) llli�\?14,

Which of the following elernenl does not show allotropy ?

(A) Nitrogen (B) Bismuth

(C) Antimony

(�) Sc 

(C) Fe

(DJ- Arsenic

(8) V

(D) ·Hg·

·which element does not show variable oxidation state? 

(A) Sc

(C) .Fe

(B) V

(D) Hg

9. � Jlfcffilcf>(Oj '31cjftljJU if � ��4f'iS it Wffi (1J61l""4 i :

(A) +4 '8) +3

(C) +2 (D) +S

https :/ /www. haryanaboard. com 
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Which of the following o,,cidation state i� r13ost common among the lanthanoids? 

(A) +4 (B) +3

(C) +2 (D) +5

10. � (Co(NH3)5(C03)1Cl if '34(1litl<1l'11-i � � ?
� 6 (� 3 · 

(C) 4 (D) 2

What is the co-ordination number in the [Co(NH3)s(C03)1Cl compound? 

W 6 (� 3 
(C) 4 (D), .. 2 •. _ 

. . , . 
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11. Kl Co(C0)4 J if cffiqj{-i! ctf 3f'f¥roib{Uj ffl � :

12. 

(A) +l
(ij) -1

(C) +3 (0) -3
The oxidation number of Cobalt in K(Co(C0)4 )is:
(A) +l

(C) +3
(8) -1
(0) -3

t:tib sn�fqq, ��.bi�d ��li�s medl!cbdi -a � l :

(A) SN2

(C) �\1141

(B) SN1

(0) � -a � �

A primary alkyl halide would prerer to undergo : 

(A) SN2 (8) SN 1

(C) Elimination (0) · None of these

13. � q,r � l:

(A) CnH2n+10

(C) CnH2n+20

Molecular formula of ethers is

(A) CnH2n+10

(C) C11 H2n+20 

14. � if SJi@ 3fadlZI �-ffl l ?

(A) CH30H

(C) (CH3)2CHOH

(B) CnH2,10

(0) CnH2n-20

(B) CnH2nO

(D) CnH2n-20

(B) CH3CH20H ,

jD) (CH3)3COH 

Which is strongest acid in the following ?

(A) CH30H

(C) (CH3)2CHOH
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15. 

16. 

( 6) 

3illn�)q;f q � � � i : 

(A) �41et (13) (t�'

(CJ. 3-tl�4't1 (D) 2-q�.fl-1

lodoform test is not given by : 

(A) Ethanol (B) Ethanal

(C) 3-Pcntanonc (D) 2-Pcntanonc

tnlbi\-1 fflq'11�s \j1q\le:1 � � � : 

(A) Ar-CONH2 (8) Ar-N02

((!) Ar-NH2 (D) Ar-OH

Hoffmann_ Bromamide degradation reaction form: 

(A) Ar - CONH2

(CJ .Ar- NH2

(B) Ar-N02

(D) Ar- OH

17. � if "6 cfiA-'ffl � RNA if i '31R DNA if :riff ?

(A) �141lH

(C) � 

(8) tll�i!hfl-1

(D) •c11-i1

Which base is present in RNA but not in DNA ? 

(A) Thyamine

(C) Uracil

(A) fcle.lfri-1 C

(Cl fclc.1fti-1 B 1 

(B) Cytosine

(D) Guanine

(B) fcle:1fiH D

(D) Pcle.i�-i K

The Vitamin responsible for the coagulation of blood is : 

(A) Vitamin C

(C) Vitamin B1
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( 7) 5629/(Set: A) 

f.lw : Az..r/Mtir1 ITRT <6 JrR' t!'f>--C:, �I c1TCfllT � � :

Answer rite following questions in one-two words/ sencences : 

What is Frenkel defect ? 

Why gases less soluble in liquids as temperature is raised ? 

What is strong electrolyte ? 

Define activntion energy. 

What is observed when a beam of light passed through a colloidal sol ·, 

What arc ambidentatc ligands ? 

What is Carbylamine Reaction ? 

26. �l:filij � -1@ 31qqe.:i 6 � � � m cfit • cm i ?

What are the expected products of hydrolysis of lactose ?
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f!riw : iJli!)'/rl tµij{ it ftwr � <ti' gfrf c/R" : 

5629/(Set: A) 

Fill in the blanks by appropriate words : 

27. "1iQP\cfi � ......... : .... � if ��mi �I

Ionic solids conduct electricity in ............ state. 

, 

2s. ui�fsliq, cnr � � ��rn,<11 � wm � � am Pi;;iTha 61oi �' r.,; ............. �t'-; �, 1

Rate of reaction controlled by slowest step caJ_lcd ............ 

The general electronic configuration of transition clement is ............ 

30.· [Cu(NH3)4JS04 ��it ............. 3TI<R � � i, 

............ ions produced from complex compound [Cu(NH3)4 )SO,. . 

33. CH3 - CH = CHCHO � <61' IUPAC ;nir ............. ti 

............ is the IUPAC name of the compound_ CH3 - CH = CHCHO.

34. K3IAl(C204l3J � � <61' IUPAC ;nir ............. l1 

............ is the IUPAC name of the complex compound K 3[Al(C204 b j. 

............ is the deficiency disease of Vitamn C. 
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